


5023 JUNE 2015 2

M 27 -7 42k @ 07— F2R)
@ 307 -7 +2%) @ =307 -7 +2%)

— — — 1
1) 27— +2k @ 3

21— g+ 2k
(3) —%(ZT—T+2?J (4) i%(z?-?u?)

y=2x, x=0 bOPL x=2 PaupPnEg QLU ghu@b urly x AFms
Gurmisgé sponuuBb S ubummeailar cuaerlirLiLy.

1) 85~ 2) 2J5= @) V57 4) 45+

The surface area of the solid of revolution of the region bounded by y=2x, x=0 and
x =2 about x-axis is :

1) 85w @ 257 3) 5w 4) 45w

f(x) e @rient LienL & srilluaile _[f(x) dx=

—d

) A @) 2ff(x)dx
0
(3) ]j(x)dx @ =2[f(x)dx
0 0

a
If f(x) is even, then _[ F(x)dx is:

.

1 o @) 2[f(x)dx
0
(3) Tﬂ.x) dx 4) -2 _[ f(x) dx
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ax+y+z=0, x+by+2=0; x+y+cz=0 Q8w sweaur@Hseaier QzmELliLrag

: 1 1,
e Geueflliuan_wnHn Steneu QuDHDIHLIG 6 ot CW

1 1 2 2 G) -1 4 0

. + + =
solution then Fowdk | A—% = T=p

1) 1 @) 2 & =1 4) 0

(D2—4D+4)y=e* - e fpuiys Siey (PI)

(R

& T Q) rex @) rex @ e
A particular integral of (D?—4D+4)y=e* is :
(1) }2; e (2) «x e2X 3 = e~ 2 (4) EL &=

QuIGuaTsailan samb R @l * eremp F@mmLILE Qswed a + b= va® +b* erar
auenrumSsULUGSDg erafld (3+4)*5 - @lar Sl

M s @ 52 () 25 (4) 50

In the set of real numbers R, an operation * is defined by a « b= a® +b? . Then the
value of (3%4)%5 is :
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3) 2 (4) 50
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10.

BUBSMEE Sapml p — g - HGF FLOTEIOTENS].
1) pvq @) pv-~p ) ~pvg 4) prg
The conditional statement p — q is equivalent to :

(1) pvgq (2) pv~q 3) ~pvg (4) pag

a22 =x2(a2—x%) TGN GUENATEUENT.

(1) x=0 LHPYL x=a - && Qe @ et LW HCL Caram(Herarz.
(2) x=0 LPHYL x=a - & Qe Q@ sanafilsd Qarar( o emeng).

(3) r=-awpmibx=a-&35 Qe ule Gun savalisar Caran( o dmeng.
(4) seamanfl ergidlaena.

The curve ay?=1%(a®—x?) has :

(1) only one loop between x=0 and x=a

(2) two loops between x=0 and x=a

(3) two loops between x= —a and x=a

(4) no loop

w ararugl 1- & iUk epeb arafld (1-w+ed)i+(1+o—w?)? - ar by,
1) o 2) 32 @y 16 @ -32
If o is the cube root of unity then the value of (1—w+wd)*+(1+w—w?*is :

(1) 0 @) 32 3) -16 (4) —32

100 B2 Lply Qererr@erer Qecueussden WBEfny sHoeray.
(1) 10 2) 20 (3) 40 4) 60
The least possible perimeter of a rectangle of area 100 m? is :

1) 10 (2) 20 (3) 40 (4) 60
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12.

13.
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@ umlevrer Ugeualled P(X=2)=P(X=3), etafléd, uarrLierenau A - @ar L.

(1) 6 (2) 2 3 3 4) 0

In a Poisson distribution if P(X=2) =P(X=3), then the value of its parameter \ is :
(1) 6 (2) 2 3 3 (4) 0

— -

a -8 blevewbles rras Carame yearall auflwrsebd u LHND v - &G
BlenaTITEE|D SEPDHS TSIl FIENGHT DG DTS CeudLT FoarUm(.

m [7-7 5 3]=0 @ [733]=0
@ 337 Tx7]=0 @ [7a3]=0

The non-parametric vector equation of a plane passing through a point whose position

L — -
vectoris a and parallel to u and v is:

o [T-7 5 3]=0 @ [733]=0

@ |73 270 @ [333]=0

f(x) = Jx pmd f(1)=2 erafld f(x) eremugy.
2 3
(1) =36 +2) @) ST +2)

(3) g(xv’.x_* 4:9) (4)

5 x(\x +2)

[SSRN S

If f(x)=+x and f(1)=2, then f(x) is :
2 3
1 -3x+2) 2) Sk +2)

3) %(.w’? +2) @ = x(Vx+2)

(SIS

[ SlgpLlins / Turn over
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+
14. u=log wMid , GTEmeD 1@ +ya—u GTGATLIG.
xy dx dy
(1) 0 2 wu (3) 2u 4 u!

16.

2 2
X1 1
If u=1log / , then x§-11 + Ua_u is
dx T dy

1 0 2) u 3) 2u (4) u-!

z=0 erafled arg(z) :

1) o0 2)

=

@ 5 4) e@runEs Quars

If z=0 then the arg(z) is :

(1) 0 Q) =

3 “g' (4) indeterminate

— — -3 - = - — — ) ) ) . )
PR=2i+ j+k,QS=—i +3j +2k erafleo proard PQRS - a1 Lyl

= 3
1) 543 @ 103 3) 5—2‘@ @ =
— - — - = — - Y
If PR=2i + j+k, Q5= —i +3j +2k, then the area of the quadrilateral
PORS is :
s ; 5v3 3
(1) 543 2) 10V3 3) “—2{ @ 3
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24,

9
A 1 . . : . .

flx)= - Teagl T ® << ® eenug A eremp Qgrif gweumitiy wrhiudler
RF Bahsse] SLTSHE sTiy (p.df) eratler A - @& L.
1) 16 @ 8 (2) 4 (4) 1

A 1
It fla) = — 5, —o <x< » isap.df o acontinuous random variable X, then

T 16+ x
the value of A is:
(1) 16 2 8 (3) 4 @y 1
p(A) # p(A, B) erafled QamgLlilimeng.

(1) FESMLE] 2eLg WwhHnb arafsmauhn STeyser QUDbDETars.
2) emrsmwey 2 mLg LHnL eCr e ey WubmieTaTs.

(3) SAMESEMDE] 2 6HL WG|

(4) BHEISDWLE], SDDF.

p(A) = p(A, B) then the system is :

(1) consistent and has infinitely many solutions

(2) consistent and has a unique solution

(3) consistent

(4) inconsistent

A+iB=(a; +ib;)(ay+iby)(ay +iby) eretiicy A%+B2 - Qe wHILL.
(1) % #b2 +a3 +b3 +as +b> () (a;+ay+ag)?+(by+by+by)?

2 ! 2 2 : 2 7 2 2}
(3) (a2 +b2) (a3 +b3) (a2 +b3) @ (af +af +a3) (b +by+bs)
If A+iB=(ay+ib;)(ay+ib,)(ay+ibs), then A%2+B? is :

(1) a% +bs + a% + b:z2 + a§ +b§ (2) (ag+ay+ag)+(by+by+by)’

3) (a-l?eri)(angb%) (a‘§+b§] (4) (a§+a§+a§)(b$+b§+b®

[ Slpliys / Turn over



5023

10

JUNE 2015

28.

26.

27

- -~ = —
(2,10, 1) wrémp LeieRd@n © (37 ~ 7 +4%) =248 rarn HarsdnEh

@erLlul L 886 G@DbBS SN.

1) 2426 (@) 26 @) 2 4 %

— - — —» =
The shortest distance of the point (2, 10, 1) from the plane r - (3§ — -!-41:) =226

is :

—

e - = —3 e
0,1, ~1) ererp arafl auflumsags 1 (7 +37 — K) =0 7 (7 +2K) =0

Qe s Qaremend CarlamL o arar_ddwgorear sagdear ewemun(.

(1) x+4y—z=0 (2) x+9+11z=0

(3) 2x+y—z+5=0 (4) 2x—y+z=0

The equation of the plane passing through the point (2, 1, —1) and the line of intersection
e - = = —

of the planes r - i+3j—k)=0amdr'(j +2k)=0i5:

(1) x+4y—z=0 (2) x+9%+112=0

(3) 2x+y—z+35=0 4) 2x—-y+z=0

GLmssame ) CUTmISs Gewrdw gerdlar wplililg. epamseio, o?-@er aiflas.
1 4 2 3 3 2 4 1
In the multiplicative group of cube root of unity, the order of v is :

1 4 @ 3 3) 2 @ 1

28.

(N, #) - & x * y=max{x, y} - @& Quflwgy, x, y € N, eTafled (N, *) ereimgy.
(1) eoLy efldl LD CumBHBEID.
(2) SrsEGeD LL(HD 3EL0.

(3) swallyeoLw orsGon WLHD BLEW0

@) eC 6.

In (N, *), x * y=max{x, y}, x, y € N, then (N, *) is :

(1) only closed

(2) only semi group

(3) only monoid

(4) agroup
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34. WwHDiD b Qrar() Qe Ceus i wHMLD 0 eTeamLg) SeunhinE @e LUl L.

CaremTibd. (; + }: ) Qg ree Ceusryruler,

1 o= @ 6= (3 0=

W=
rl-\-i:l
(SRR

If a and b are two unit vectors and 9 is angle between them, then (a 4 b) is a unit

vector if :

m e=3 @ o=3 @ 0=% (4) e=-2§'l
35. yP-4x+4y+8=0 srenp ueu@eTwgdlen Qecueusasden Barb.

1) 8 2) 6 (3) 4 @ 2

The length of the latus rectumn of the parabola y2—4x+4y+8=0is :

1 8 2) 6 3) 4 @ 2
36. <G el 1- e aufleng n, k = 0 g LN erafier adj(kl) =

(1) kMadj 1) 2 kadj 1) (3) Kadj) @ k" ladjn)

If 1 is the unit matrix of order n, where k # 0 is a constant, then adj(ki) =

1) k(adjl) ) k(adj 1) (3) K(adjI) 4) k"~ l(adjI)

37. ugau@aTWD P=x - SGL Fa QeaaswsIDGn Qe Lul L ULy

1 ‘.1_ (2 ‘.[.. 3 2. (4 _8.
@ 3 @ 3 G 3 @ 3
The area bounded by the parabola y?=x and its latus rectum is :

4 L1 2 8
o = @ 3 @ 3 @ 3

B [ Silins / Tum over
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51.

53.

54.

55.
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Erés @ (x + 1)% —y =e¥(x + 1)

Solve (x + 1)% —y=e'(x + 1)2.

peq=(pP—-29Aaig—p) adars sTLO.

Show thatp &> q=(p—=> q) A (@Q = p).

Ga&HL erhifomp eflfluliener (reversal law) er(pdl Hlem9.

State and prove reversal law on inverses of a group.

@0 GHUACL Coieller, Carédl Auppeutsaiean egaisd 80 SL@b. 6 BUTsE
Gsirey erwdlanmed, Gepns ULsD 5 puiser GCarédl Qup Hlspsse sTars.
The overall percentage of passes in a certain examination is 80. If 6 candidates appear

in the examination, what is the probability that at least 5 candidates pass the
examination ?

@) fx)=x* eeap eri9HE [-2, 2] ereim QevLQeueluder wrsyrEsdufen

Qe wdlig Cospnsens sfluriss.
ALV

(b) & Erren LS Ll meusgl e eflenerwm () aﬂ]mmu_lrrt_uu@a%lg)gj.
RHGES usmLwler Cued 2 allphbare T 20 Gaoruwpb, LsmLuler
Gue 4 eflpsTed T 40 Qarueb, useLulear Cuwd 6 elwphsTe
T30 Quuud e dpri. Ceum rhg eremw Swssrain QaruGor,
QuuGur SeLwirg. et e b erdifumriy wmg?

(a) Verify Lagrange’s law of mean for f(x)=x> on [-2, 2].

OR






59.

60.

61.

20
=1 el gl L . ; I
= zj_l _ 5 LDEQJLD 124:%22—:] &l 0T D @5[{@855” @@JL@LD

eTand STi-lg. jeney Gleul (Hd Leteflenwis sraus.

| =" z+1 —
Bloror ot the Thms = =Y = and X 4_y_z+1
3 —1 0 2 0

hence find the point of intersection.

intersect and

X2 =2x+4=0 - &1 (LPEORIGET a LOMILD B eTaNey o —pN=i 20+ 1 gin 33‘:' ereu [Hlmieys.

B @pBE o —p7 - ér wdHleau Qums.

n ]
If o and B are the roots of x> —2x+4 =0, prove that ¢"— p=; 21+1 sin %— and deduct

o’ — B

@@ QgmhiE Lresdlar sbl9 euLb uretamenyu aligellelaeTers). igerm Hemb
40 B LT @ b. eufilurengwirang), sl eulgdlen S bl LU Yerafluldalmhs
5 8L i &Cp o éterg). 09 UL snss STRIGD gramaeaien o WThiser 55 LT
crafed, 30 LT 2 wrsdler s aulsdlnE qm goat srhd am@swrss
Qar@héssiulLTd sgamens sl barsmass sreamns.

A cable of a suspension bridge is in the form of a parabola whose span is 40 m. The
road way is 5 m. below the lowest point of the cable. Tf an extra support is provided

across the cable 30 m. above the ground level, find the length of the support if the
height of the pillars is 55 m.

@@ &b gargdler G Cekigsgrs mwbbgerer saiflar g 15 5. Beraperar
Q(F gerurarg gearsdlaenyb seubdlenarb Gsr(hinrm paETha CsTearr®
BmsHng erafle, eranflufler Epwl L apenamuledimBg 6 1. girsdle gerflufld
siewbgaTer P erewm Lemafludlen Hluibliurengeniiss &mems.

A ladder of length 15 m moves with its ends always touching the vertical wall and the

horizontal floor. Determine the equation of the locus of a point P on the ladder, which
is 6 m from the end of the ladder in contact with the floor.
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